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QUESTION 1

Refer to the exhibit. 

A network engineer configures OSPF protocol between two Cisco Nexus 7000 Series Switches. The OSPF neighbors
fail to synchronize OSPF databases. Which action resolves the issue? 

A. Match the OSPF area between the two devices. 

B. Configure the IP addresses of the interface in the same subnet. 

C. Change the OSPF area type to 2 on n7k-1. 

D. Set the same MTU values on both sides of the link. 

Correct Answer: D 

 

 

QUESTION 2

A Cisco UCS B-Series Blade Server is configured to boot a VMware ESXi host from an EMC VNX storage array by
using a Fibre Channel SAN. The boot order is confirmed to be configured as expected, but the server fails to boot from
the SAN. Which action resolves the problem? 

A. Set the boot LUN to the highest LUN ID in the storage array. 

B. Set the boot LUN to the lowest LUN ID in the storage array. 

C. Set the same WWNN pools for vHBA adapters. 

D. Set the same WWPN pools for vHBA adapters. 

Correct Answer: C 

 

 

QUESTION 3
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Refer to the exhibit. 

The network administrator must use a scheduler to perform configuration backups every night. After completing the
configuration, the administrator discovers that configuration backups occur at 05:15 in the morning instead of at 02:00.
Which action resolves the issue? 

A. Activate the scheduler manually at 02:00 local time. 

B. Create a periodic scheduler that runs every 24 hours. 

C. Implement the switch clock to match the local time. 

D. Configure the scheduler within the CONFIG_BACKUP job. 

Correct Answer: C 

 

 

QUESTION 4

The external routes fail to propagate to leaf switches in Cisco ACI fabric Which two actions resolve the issue? (Choose
two.) 

A. Enable the VTEP pool in the fabric 

B. Assign an MP-BGP AS number to the fabric. 

C. Specify the spine nodes as route reflectors 

D. Associate the correct contract to the L30ut. 
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E. Configure an MP-BGP area. 

Correct Answer: BC 

 

QUESTION 5

An engineer upgrades Cisco UCS firmware from release 3.1(2) to release 3.1(3) using AutoInstall. Both fabric
interconnects go offline during the software upgrade installation and issue multiple FSM retries in the DeployPollActivate
stage. Which set of actions resolves the issue? 

A. Clear the startup version of the default infrastructure and server pack. Remove the service pack from the subordinate
node. Upgrade with the Force attribute through AutoInstall. 

B. Enable the management interface monitoring policy on the fabric interconnects. Initiate a configuration backup on
both fabric interconnects. Commit the pending fabric interconnect reboot activity. 

C. Fix the rights to 666 with the debug plugin on the primary fabric interconnect. Save the current configuration on the
running fabric interconnect. Continue the upgrade on both fabric interconnects. 

D. Acknowledge the error and reboot the primary fabric interconnect. Clear the default firmware version and upload a
new one. Restart the upgrade process manually. 

Correct Answer: A 
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